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(2) 3611/(Set : A)

o ghereff s U To FIT-9F UT 39T ford)

Candidates must write their Roll Number on the question paper.
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Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
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3611/(Set : A)
(vii) mﬁa?a‘aﬁ?m%yw?#aﬂ?/ﬁ%@?ww?/ oaq 7ot 7 & o BT

g% & 797 T 8
(viii) T=FHT G, TEHE T GG ad JeT G AY T 8l

General Instructions :
(i) All questions are compulsory.
(ii) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark.

(iv) Question No. 2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No. 9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

(vi) Question No. 17 to 19 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed
130 words each.

3611/(Set : A) P.T.O.



(4) 3611/(Set : A)
(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 |

[ Objective Type Questions ]

=i ge7 % Gel fawed giad -
Choose the correct alternatives of the following questions :
1. () STELIHA e ¢ 1
(1) et (%) i

Human wants are :
(A) Unlimited (B) Limited
(C) Negligible (D) None of these

(i) Frfafed & @ PH-a1 afte-ariare & oTeqe  § °

(31) & AR

3611/(Set : A)



(5) 3611/(Set : A)
(@) i ot

(7) =R =%

(3) ST W

Which of the following is the study of micro- economics ?
(A) Aggregate demand

(B) National Income

(C) Trade Cycle

(D) Consumer Equilibrium

(iif) H-|T YR B B H FRT & 7 1
() weF & § e
(3) ofg axgett I HHd § HH o S
(@) SaEd & | ghs
(3) T & g T
Which of the factors lead to decrease in supply ?
(A) Fall in input price
(B) Fall in price of other goods
(C) Increase in excise tax rate

(D) None of these

3611/(Set : A) P.T.O.



(6) 3611/(Set : A)
(iv) IR fFel & @ A6 9% SR 6T 9% 9 A @ R, a9 1

(37) i v STeEmEr ©

(3) i i R

(|) i o & & @ off S FivEa &Y g o
() T o, offed o & aXTeK ©

If the demand curve of a firm is compatible with market demand

curve, then :

(A) Firm is price taker

(B) Firm is a monopoly firm

(C) Firm can fix any price without restriction

(D) MR is equal to AR

(v) faeg memd &1 af & : 1
(s1) 1927 (@) 1929
(|) 1931 (@) 1933

The year of World's Great Depression is :

(A) 1927 (B) 1929
(C) 1931 (D) 1933
(vi) =1 & ¥ 5 TS o ® e 787 fRm o ?
(s7) =R T
(3) et gl

3611/(Set : A)



(7) 3611/(Set : A)
() =i oM
(@) wwdem ww
Which of the following is not included in national income ?
(A) Domestic services
(B) Intermediate services

(C) Transfer income

(D) All of the above
(vii) qof TSFIR Hger a6 Rafq & BEd AD = AS &R S = [ @1 3699 787 W

Full employment refers to the situation wherein AD = ASand S =1
and there not exists :

(A) Involuntary unemployment

(B) Low wage rate

(C) Low level of output

(D) Low income
(viii) 71 & | BI9-1 T B BT ISR e 7

(1) Frm &= (@) wwafr @
3611/(Set : A) P.T.O.



(8) 3611/(Set : A)
(@) @ #= (3) om =+

Which of the following is not an example of direct tax ?
(A) Corporate Tax (B) Wealth Tax

(C) Service Tax (D) Income Tax

=i weT @@l & a1 T, Jarsy -
State whether the following statements are true or false :
(ix) TIFOS T&] B BT A gha A0 F gRe B BROT B o 1

Rise in the price of substitute goods is the cause of increase in

demand.

(x) THT orafy R T 8t &, 91 Sa & F9 dEer el 2l
1

The longer the period, the less elastic is demand.

(xi) U STTHE & X Read o R B0 ) Fwear & 1
A specific quantity within the supply schedule refers to supply.

(xii) TETET AN SR % SIRT fashd AN 918 S o
1

Selling costs occur under perfectly competitive market.
(xiii) TFHRE-TIMH H THR e ST el e

More government interference does not exist under macro-

economics.
3611/(Set : A)



(9) 3611/(Set : A)
(xiv) TEY T H gOq qor A § ater o g1 1

Disposable income is divided between savings and investment.
(xv) TR Rear # M TRBR a9 #1359 ol 1

The objective of budget is to achieve the state of economic

stability.

(xvi) ‘FT TH FBLA FRE S ol 1

'Tax' is a legal payment.

[ SHfc-STgERIeT® H9 |

[ Very Short Answer Type Questions ]

2. ‘IO AN A FT AR B 7 2

What is meant by 'opportunity cost' ?

3. Fr=1 ®ife &t axgett @ @ e & 7 2

What is meant by inferior goods ?

4. AR TEd 9 F g ' ? 2

What is meant by internal economies ?

5. I&] H THEUA d AT T G © 7 2

What do you mean by homogeneous product ?

6. STTAIEHIK i GRS ST 2

Define Oligopoly.
3611/(Set : A) P.T.O.



10.

11.

12.

13.

(10) 3611/(Set : A)
3ifem a&e @@ e ? 2

What are final goods ?

e fafmg o & afeam s 2

Define flexible rate of exchange.

[ TS 5927 ]

[ Short Answer Type Questions ]

HRE B UTHA T JHE H UThT § X T FHiforu

Distinguish between returns to a factor and returns to a scale.

froft o qen Ui o H R oW & ? 4

What is the difference between private income and national income ?

TS A i & 77 TGRT Jaisy 4
Explain four uses of national income accounting.
Y AN | T AR B ? 36% 9eE B § ¢

2+2=4

What is aggregate demand ? What are its constituents ?

T @ A 6 SR A A | B 8 7 4

How full bodied money is different from credit money ?

3611/(Set : A)



(11) 3611/(Set : A)
14. @ NG9 & O Ul B U B 4

State the qualitative instruments of credit control.

15. 31 A1 & qHIEH $ [T TSN ST & ave B 4

Explain fiscal policy for correcting the situation of excess demand.

16. feR ffFe & @1 &l & ? 36% v § @ d& db
2+2=4
What is fixed exchange rate ? Give two arguments in favour of fixed

exchange rate.

[ ST 99 |

[ Long Answer Type Questions ]
17. A1 % HFq AF 9 FBA & ¢ 39 A B A g QY @ awen X 2
+4=6

What is price elasticity of demand ? Explain the total expenditure

method to measure it.
YT

OR

AT @6 HT S 7 AN 9% G A B AR R FH M S ! 2+44=6

What is demand curve ? Why does a demand curve slope downwards ?

18. @Rl & Terdl & gfd & fawr o gfd & g § o= SO 6
3611/(Set : A) P.T.O.



(12) 3611/(Set : A)
Distinguish between extension of supply and increase in supply with

the help of diagrams.
YT
OR

ol sferEifier # sfeqen § G Y g/ wF & der @ e H
6

Discuss the short-run equilibrium of the firm under perfect competition

by way of marginal approach.

19. THIAHR SR & & AQwdel & aoF & 6
Discuss important characteristics of monopoly market.
YT
OR

TR e &Y & g faQeanet & avie &

Discuss important characteristics of monopolistic competition market.

3611/(Set : A)
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(2) 3611/(Set : B)
o GOETf STYT U To FIF-UH UT SaT g

Candidates must write their Roll Number on the question paper.

o U g % Fav @7 @ {@ 7 ghlEd &Y @ [ 59T [ 7 98 & qher &
FYUT 37 T F i3 o qar &hHe T8 R wam

Before answering the questions, ensure that you have been supplied the
correct and complete question paper, no claim in this regard, will be
entertained after examination.

T 3T —
() &# g7 S &8
(i) F9% g7 % e 5 T a7 Iy
77 8
(iii) T GET 1 F GAE (i-xvi) FeGTE Fo7 & der T 81 hH T 1 3%
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(v) 97 GET9 & 16 7% TETTIESE 97 & [ J9% J97 4 3% T 81 T9%
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3611/(Set : B)



3611/(Set : B)
(vii) mﬁa?a‘aﬁ?m%yw?#aﬂ?/ﬁ%@?ww?/ oaq 7ot 7 & o BT

g% & 797 T 8
(viii) T=FHT G, TEHE T GG ad JeT G AY T 8l

General Instructions :
(i) All questions are compulsory.
(ii) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark.

(iv) Question No. 2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No. 9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

(vi) Question No. 17 to 19 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed
130 words each.

3611/(Set : B) P.T.O.



(4) 3611/(Set : B)
(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 ]

[ Objective Type Questions ]

[T g7 % @&l aweq gl -

Choose the correct alternatives of the following questions :

1. () offe @wen & S & [Q, S @ gaWd @ ffaRad 9% e o ¢
1

(1) A 3@ (@) o= SwE
(@) T@ws @M (]) T A @R TG
Origin of economic problem involves besides scarcity of resources :

(A) Two uses (B) Three uses

(C) Alternative uses(D) None of these
(i) Fr aEgell W AT @ Frem @ e © ? 1
(1) FrreT gy

(@) am aEge
3611/(Set : B)



. (5) 3611/(Set : B)
(|) wEES gy

(2) sfrerge® awy

The law of demand applies to :
(A) Giffen goods

(B) Normal goods

(C) Substitute goods

(D) Articles of distinction
(ii) TAREEE &g WX BH H A9 qT B ol © ¢ f
(1) =
(@) e
(|) o
(3) ™ | =g T
At break even point, profit and loss of the firm are :
(A) Zero
(B) Positive
(C) Negative

(D) None of these

3611/(Set : B) P.T.O.



(6) 3611/(Set : B)
(iv) USHITYHR & Sfdiid &9 & 91T a5 & ©@&q #1187
1

(3F) ot afrerm
(@) ot afteEr
(|) #9 =R

(z) e derR
What is the shape of firm's demand curve under monopoly ?
(A) Perfectly elastic
(B) Perfectly inelastic
(C) Less elastic
(D) More elastic
(v) 9= Fas R s 1
(31) @b A9 + 99 B
(@) w& FRY - 3 B
(@) " a9 x 9 8
(3) w& FRg <9 B
Net investment is equal to :

3611/(Set : B)



(7) 3611/(Set : B)

(A) Gross investment + Depreciation
(B) Gross investment — Depreciation
(C) Gross investment x Depreciation

(D) Gross investment + Depreciation

(vi) frfefed & & eF-& Ry s o & 9w @ 7R ?
1

(1) omg fafy
(7) == faf
(7) Sum fafy
(z) Faf-omam fafy

Which of the following is not a method of calculating national

income ?

(A) Income Method

(B) Expenditure Method
(C) Product Method

(D) Export-Import Method

(vii) otfy =T @ Rafy § Fr=ifefea § @ #9-T 78 ® ?
1

3611/(Set : B) P.T.O.



(8) 3611/(Set : B)
(1) AD> As (3 AD<aAS

(@) AD=AS (7 ADxAS

In case of excess demand which of the following is correct ?

(A) AD> AS (B) AD < AS
(C) AD=AS (D) ADx AS
(viii) SIS R T IgasT B @ 1

(31) @FT B TAH Fear

() *% 4 gfs

(|) eivsE ITERT W e

(3) T & =g T

The objective of progressive taxation is :
(A) Equitable distribution of sacrifice
(B) Addition to taxes

(C) Restriction on harmful consumption
(D) None of these

freatirge #e @8t & a1 T, FAET -
3611/(Set : B)



(9) 3611/(Set : B)

State whether the following statements are true or false :
(ix) €T @rEAl B 6 BT S ol 1
Scarce means are called wealth.

(x) ST§ AR oAl MERR B © A @ N S e ol 1

Co-efficient of elasticity is zero when demand is perfectly elastic.

(xi) OTEIH H I &l B el ol Tebelll 1

A producer cannot suffer loss in short period.

(xii) TOTET AN SR &SI fashd AN 918 S o
1

Selling costs occur under perfectly competitive market.
(xiii) VAT Fpfa & e Bt 2 1
Services are tangible in nature.

(xiv) TS FOT GX <7 J9fFdes o § i o Siam &1 1
Personal income includes interest on national debt.

(xv) g A6 B Rl § IR #I G & aofc H AT T ST Aoy
1

In case of deficient demand, government should not adopt policy of
deficit budget.

(xvi) HaT HX TH TIT BT B 1

3611/(Set : B) P.T.O.



(10) 3611/(Set : B)

Service tax is an indirect tax.

[ S-SR 59 |

[ Very Short Answer Type Questions ]

2. IUEA GG 9 BN A FT S 8 7 2
What does slope of production possibility curve show ?
3. W & W & STER ARy 2

Give exceptions of the law of demand.
4. T R § ol U §HT T @ 6 SR % B © P2

What are the shapes of marginal revenue curve and average revenue

curve under perfect competition ?

5. Ui &« o ot © 7 2

Give the meaning of price elasticity of supply.

6. FHua fade 58 @ed B 7 2

What is meant by price discrimination ?

7. A9 @ arRETr SR 2

Define Investment.

8. FNR-AY F 8 ? 2

Define balance of trade.

3611/(Set : B)



10.

11.

12.

13.

14.

15.

16.

(11) 3611/(Set : B)
[ TR 9 ]

[ Short Answer Type Questions ]

AR qom Sl Todl | ST gdrsu) 4

Distinguish between internal and external economies.

TS T & A9 & o fafy &t witra @ S

Discuss briefly income method of measuring national income.

3o SUANT =g T R YR @ S § 7 4

How is final consumption expenditure calculated ?

“Yel AR HJE B GO &l UG @ H Tedal § TR 4

Explain the concept of 'under employment equilibrium' with the help of

a suitable diagram.

ag-fafa somel & @S & oAt TR 4

State any two defects of barter system.

e MY S (CRR) T J9We qedl ST (SLR) § @1 o=k 8 ¢ 4

What is the difference between CRR and SLR ?

WISl e IR &3 § SR JaiRU| 4

Distinguish between progressive and regressive taxes.

T 99 & T @ H 7S FaBg 4

3611/(Set : B) P.T.O.



(12) 3611/(Set : B)

State the items of balance of payments on capital account.

[ & SIS 99 ]

[ Long Answer Type Questions ]

17. A°1 % e @ 2 ¢ g8 fem @ ang an © 7

2+4=6
What is law of demand ? Why does this law operates ?
Yqr
OR
AT &1 A A B A P S &y @ @ &1
6

Explain the proportionate method of measuring of price elasticity of

demand.

18. T HFT FM Bkl & 7 8 Bl FERG okil © ¢
2+4=6

What is equilibrium price ? How is it determined ?
FYqr
OR

ool SRl SR &t g fQwdrett & | avie X 6

Discuss in brief the main characteristics of a perfectly competitive

market.

3611/(Set : B)



(13) 3611/(Set : B)
19. THAHR IR H gei fawdett & aoiF H{) 6

Discuss important characteristics of monopoly market.

g
OR
TR HrEifier &Y & g faQeanet & avie &

Discuss important characteristics of monopolistic competition market.

3611/(Set : B) P.T.O.
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77 ford)
The Code No. and Set on the right side of the question paper should be
written by the candidate on the front page of the answer-book.

®  FYF 9T F TV [T @ FT G U, J97 B FHH HTT [7G)

Before beginning to answer a question, its Serial Number must be written.

o FUCYRTH % diT 7 @Il g/ G T 83

Don't leave blank page/pages in your answer-book.

o FuTYRTE % SN FE o e TE A o eIaeIRdgar & rd ST
fer&r T 7 #el

Except answer-book, no extra sheet will be given. Write to the point and do
not strike the written answer.
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(2) 3611/(Set : C)

o ghereff s U To FIT-9F UT 39T ford)

Candidates must write their Roll Number on the question paper.

o U g % Fav @7 @ {@ 7 ghlEd &Y @ [ 59T [ 7 98 & qher &
FYUT 37 T F i3 o qar &hHe T8 R wam

Before answering the questions, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be
entertained after examination.

G 79 : —

(i)
(i)

(iii)

(v)

(v)

(vi)

G4 go7 Syfard 81

J9% g7 % e e TP a7 Ry
77 8

o7 G 1 F e (i-xvi) RGeS FoT F T T 81 9% FeT 1 6 &
8

797 G 2 7 8 T S-TgAUEE F97 & [F7H JeAH 9T 2 SiH T 8
% F FAT GEEFT: 30 =] & 9% T8 E Ry

797 GET 9 & 16 T% TgaIIESE J97 & [ J9% J97 4 S T 81 J9%
# T GG 60 =] & 9% T& & FMeT

g97 G&gr 17 @ 19 7% &9 FT0EF 597 & 778 J09% F97 6 SiH # 81
J9% F T GrEa: 130 91 @ oifde 787 & ey

3611/(Set : C)



3611/(Set : C)
(vii) mﬁa?a‘aﬁ?m%yw?#aﬂ?/ﬁ%@?ww?/ oaq 7ot 7 & o BT

g% & 797 T 8
(viii) T=-FH G, TEHE T G ad JeT G AY T 8l

General Instructions :
(i) All questions are compulsory.
(ii) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark.

(iv) Question No. 2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No. 9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

(vi) Question No. 17 to 19 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed
130 words each.

3611/(Set : C) P.T.O.



(4) 3611/(Set : C)
(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 |

[ Objective Type Questions ]

=i ge7 % Gel fawed giad -
Choose the correct alternatives of the following questions :
1. () =fofad § § $9-91 afte-sredsme & oreggq ® ? 1
(31) & AR (@) wE o
(@) =R =% (z) SusiET dgeH
Which of the following is the study of micro- economics ?

(A) Aggregate demand
(B) National income
(C) Trade cycle

(D) Consumer equilibrium
(i) @FTF gg H BRT B 1
(31) b axg @ HHT H HH

3611/(Set : C)



(5) 3611/(Set : C)
(3) ST oo 7 ghs

(|) sicRema=T a%g & BT F ghs
() S wd

Rise in demand is caused by :

(A) Fall in price of complementary goods
(B) Rise in the income of the consumer
(C) Rise in the price of substitute goods

(D) All of the above

(i) HgaA g T forg @ P W 1
(s7) =T > it
(@) =T = i
(|) =T < i
(3) = & =8 T
Equilibrium point is that point at which :
(A) Demand > Supply
(B) Demand = Supply
(C) Demand < Supply

(D) None of these

3611/(Set : C) P.T.O.



(6) 3611/(Set : C)
(iv) % & a%g 9 Qa1 & fC @i sharell @ RBr-Re &d 9gd &6 & B
T T HeT Sl & 7

The process of charging different prices from different buyers for

the same goods or service is called :
(A) Price extension
(B) Price contraction
(C) Price discrimination
(D) All of the above
(v) 39 & foemumn fFad gemd Rl § ¢ 1
(1) Ffa oreferaeen @i
(3) orefeEen W W@ M @
() g Srelegae &
(@) wwdem ww
The Keynesian school of thought advocates :

3611/(Set : C)



(7) 3611/(Set : C)

(A) Mixed economy
(B) Government control on economy
(C) Free economy
(D) All of these
(vi) Freiicied o e oifod SuieT o o i 787 fhar ST ? 1
&) it sifed SwRT &
9) WHEK AfH ITHT &4
q) T W ey
3 T § FE T

Which of the following is not included in final consumption

(
(
(
(

expenditure ?

(A) Private final consumption expenditure

(B) Government final consumption expenditure
(C) Expenditure on construction

(D) None of these

(vii) IR FHFT ITAT TG (MPC) = 1 &, T T°Th BT

3611/(Set : C) P.T.O.



(8) 3611/(Set : C)
If MPC = 1, multiplier will be :

(A) Zero (B) One
(C) Two (D) Infinity

(viii) 378 & PIF-AT Fede H o ° 1
(31) @ g (@) fomnl a
(@) I= g6 (7) om &<

Which of the following is a direct tax ?
(A) Custom duty (B) Sales tax

(C) Excise duty (D) Income tax

=g w7 qgl & a1 e, IaET -

State whether the following statements are true or false :

(ix) SET TG 356 1 ST He 3@1 ol &1 1
Shape of a production possibility curve is a straight line.
(x) & T Th TH-GAL B BT T o 1

Two indifference curves can cut each other.

(xi) ®H B THR AW IH GHI A B & ST IE BN BT B SAFT A
& SET Bl 1

A firm earns 'mormal profit' when price of the product is equal to

its marginal cost.
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(xii) THTYHR § BH T AN B STGX 9 & A g |
1

The difference between firm and industry disappears in monopoly.

(xiii) fe-STeme T Tuie-eTdae § g T T &
1

There is no relationship between micro- economics and macro-

economics.

(xiv) I, ST QT @9 & ART S Teme STy Fed ol
1

Aggregate of rent, interest and profit is called operating surplus.

(xv) % T I8 W T S % TLHR B T 34 W A &
1

Bank rate is that rate which is charged by the banks when giving

loans to the government.
(xvi) ‘B T UsH PN & 1

‘Tax' is a voluntary payment.

[ S-SRI H9 |

[ Very Short Answer Type Questions ]

2. A @ T AR § 7 2
What is Scarcity ?
3. AN H AT IHE F9 e § 7 2

When the demand is unitary elastic ?
3611/(Set : C) P.T.O.
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4. ReX S1gar & aF & F A B 7 2
What is meant by fixed or supplementary cost ?

5. 9fd 7 gie q w1 e B 7 2
What is meant by increase in supply ?

6. TR &l IR et 2

Define Oligopoly.

7. @Hfte e § T rdIae & v &3 & AW ford 2

Write the names of four sectors of an economy from the macro point of

view.
8. UK 99 &l 399 Hal & F1 A & ? 2

What are the visible items of balance of trade ?

[ AU S99 ]

[ Short Answer Type Questions ]

9, dIfcTeRl TAT G P FeHal q FRE d 96d UAhd & NIT B AR BT 4

Explain the law of increasing return to a factor with the help of

schedule and diagram.

10. IME fafY ST U S & TR B TG BI-G AEEEr X S Ay ?
4
What precautions should be taken while estimating national income by

way of product method ?

11. [l oM o7 TSR o & 7 o< 8 ? 4

3611/(Set : C)
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What is the difference between private income and national income ?

12. A9 o6 T T SUART YdRT (MPC) & H-g &l el ol 4

Explain the relationship between marginal propensity consume (MPC)

and investment multiplier.
13. 9@ = & ARG ITHN H o B 4

State the quantitative instruments of credit control.

14. Y & A9 BAT & a0 B 4

Explain the secondary functions of money.

15. N S S & JeA Igaed ford| 4

Explain the main objectives of a budget.

16. T AT § STEGEH G B & IUE o 4

Write the measures to correct adverse balance of payments.

[ & SIS 997 ]

[ Long Answer Type Questions ]

17. AT % W @ 2 ¢ 98w b ang e s 7

2+4=6
What is law of demand ? Why does this law operates ?

AYqT
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OR

TR &1 B A B A B S &y @ @ &
6

Explain the proportionate method of measuring price elasticity of

demand.

18. 9O S SR @ Qe ¥ 6

What are the characteristics of a perfectly competitive market ?

Y
OR

aieEl @& e § gfd H faeare qor qfd 7 g’ 7 o aaEu
6

Distinguish between 'extension of supply' and 'increase in supply' with

the help of diagrams.

19. THAHR IR H gei faQwdett & aoiF H{) 6
Discuss important characteristics of monopoly market.
FYqr
OR

UHITEHR SICRNTIT ST &l ged fQiarell &1 avie &Y

3611/(Set : C)
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Discuss important characteristics of monopolistic competition market.

3611/(Set : C) P.T.O.
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o ghereff s U To FIT-9F UT 39T ford)

Candidates must write their Roll Number on the question paper.

o U g % Fav @7 @ {@ 7 ghlEd &Y @ [ 59T [ 7 98 & qher &
FYUT 37 T F i3 o qar &hHe T8 R wam

Before answering the questions, ensure that you have been supplied the

correct and complete question paper, no claim in this regard, will be

entertained after examination.

G 79 : —

(i)
(i)

(iii)

(v)

(v)

(vi)

G4 go7 Syfard 81

J9% g7 % e e TP a7 Ry
77 8

o7 G 1 F e (i-xvi) RGeS FoT F T T 81 9% FeT 1 6 &
8

797 G 2 7 8 T S-TgAUEE F97 & [F7H JeAH 9T 2 SiH T 8
% F FAT GEEFT: 30 =] & 9% T8 E Ry

797 GET 9 & 16 T% TgaIIESE J97 & [ J9% J97 4 S T 81 J9%
# T GG 60 =] & 9% T& & FMeT

g97 G&gr 17 @ 19 7% &9 FT0EF 597 & 778 J09% F97 6 SiH # 81
J9% F T GrEa: 130 91 @ oifde 787 & ey
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(vii) mﬁa?a‘aﬁ?m%yw?#aﬂ?/ﬁ%@?ww?/ oaq 7ot 7 & o BT

g% & 797 T 8
(viii) T=-FH G, TEHE T G ad JeT G AY T 8l

General Instructions :
(i) All questions are compulsory.
(ii) Marks for questions are indicated against each.

(ii) Question No. 1 is divided into sixteen (i-xvi) objective type

questions. Each question carries 1 mark.

(iv) Question No. 2 to 8 are very short answer type questions carrying 2
marks each. Answer to these should normally not exceed

30 words each.

(v) Question No. 9 to 16 are short answer type questions carrying 4
marks each. Answer to these should normally not exceed

60 words each.

(vi) Question No. 17 to 19 are long answer type questions carrying 6
marks each. Answer to these should normally not exceed
130 words each.
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(vii) Internal choice is available in all long answer type questions. You

have to attempt only one of the given choice.

(viii) Word limit is not applicable to formulae, numericals and

diagrammatical questions.

[ a5 99 |

[ Objective Type Questions ]

[=TleiET 797 % @&l A% g -
Choose the correct alternatives of the following questions :
1. () = H 9 P9-ar gafe a B ? 1
(1) =T @ (@) up g A B
(6) Swlwr WgE (3) K o
Which of the following is a macro variable ?
(A) Elasticity of demand
(B) Price of a commodity
(C) Consumer equilibrium
(D) National income

(i) T HOT 96 OY-374 B THHIGK ol &, I8 HNT P @ ol © ¢
1
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(@) =98 & TR (3) TP G FA

When the demand curve is parallel of OY, then elasticity of

demand is :

(A) Infinite (B) Zero

(C) Unity (D) Less than unit
(iii) THF T T9 SO B & o ¢ 1

(s) AR> AC (@ ARrR=AC

(|) ArR<AC @ TR>TC

Normal profits occur when :
(A) AR> AC (B) AR=AC
(C) AR< AC (D) TR>TC

(iv) -8 SR & foT &4 & foe A67 9 Sfos wxa 3@ it § ?

(3) orcaTiER
3611/(Set : D) P.T.O.
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Under which market form, demand curve for a firm is a horizontal

straight line ?

(A) Monopoly

(B) Perfect competition

(C) Monopolistic competition

(D) Oligopoly
(v) frfefaa & @ H9-a1 Jae @)X & ? 1
(&) S
(@) =
(®) g
(3) = & F8 T
Which of the following is a flow variable ?
(A) Consumption
(B) Wealth
(C) Quantity of money
(D) None of these

(vi) SR IO b HeEaEq TS ST H 1
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As a result of double counting national income is :
(A) Overestimated

(B) Underestimated

(C) Correctly estimated

(D) All of the above

(vii) &9 % STTAR AD TN AS &l THMT & el &

According to Keynesian equality between AD and AS can take

place in a situation of :
(A) Less than full employment

(B) Full employment

3611/(Set : D) P.T.O.
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(C) Beyond full employment

(D) None of these
(viii) Thifoe Sfav frfofed & § e Ag 8 7
(51) =g
(@) Fas saf
(|) etfy @m
(z) = waf
Inflationary gap measures which of the following ?
(A) Deficient demand
(B) Propensity to invest
(C) Excess demand

(D) Propensity to save

=it #e &8l & 1 T, Y -
State whether the following statements are true or false :

(ix) Iowar a8 fRafy B e o 9y @ A6 3@ gt @ oTfe ki B

1

Scarcity is a situation in which demand for a commodity exceeds

its supply.
(x) IO aE] B BT gha A F gRe B BRT B o 1
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Rise in the price of substitute goods is the cause of increase in

demand.
(xi) T &b q AF B Tl ol 1
Supply can exceed stock.
(xii) THIYBR § G T JT P AR TG & A ol 1

The difference between firm and industry disappears in monopoly.

(xiii) THRe-otdeme & Tt v & A a1 Neat H SremEs R S B
1

Macro-economics studies all kind of aggregates or averages.

(xiv) TEJST T Farell & e Frafd & g o 7 e e S B
1

Net exports of goods and services are included in domestic income.

(xv) g A0 B Rl § IR #1 G1C & aofc H AT T ST Aoy
1

In case of deficient demand, government should not adopt policy of
deficit budget.

(xvi) Gl H ThH STHEH FL B 1
'Service Tax' is an indirect tax.

[ SHfc-STgERIeT® H9 |

[ Very Short Answer Type Questions ]

2. fte-a7edeme 5 Fed B 7 2

What is Micro-Economics ?
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3. A & W 3 TR TRy 2

Give exceptions of the law of demand.

4. T iR § ofed dur @ T @ 6 SR % B © P2

What are the shapes of marginal revenue curve and average revenue

curve under perfect competition ?

5. I&] H THEUA d AT AT GEE © 2

What do you mean by homogeneous product ?

6. STTAIEHIK i GRS ST 2

Define Oligopoly.

7. WA R ;T 7 2

What are intermediate goods ?

8. g & Rex X q 791 aRmg & ? 2

What is meant by fixed rate of exchange ?

[ TS 527 ]

[ Short Answer Type Questions ]

9. el AN B FAYROM P U dMerH AT JCMRH R WL B 4

Explain the concept of fixed cost with the help of a table and diagram.
3611/(Set : D)
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11.

12.

13.

14.

15.

16.

17.

(11) 3611/(Set : D)
A I B T A RN E 7 ST G A dY S M ThaT 8 ¢ 2 +
24

What is meant by the problem of double counting ? How can it be

avoided ?

i3 o @ arem @ |ay § S i 4

Explain in brief the concept of mixed income.
IRT A der @A Faw 7 =i Jamsy 4

Differentiate between induced investment and autonomous investment.

T & AT AT Hl e AT Hir| 4
Explain briefly the secondary functions of money.
HE 9% & g7 T FA TRy 4

Explain four functions of a Central Bank.

f AT 4 Bl B ? R @ e @ W i
242=4

What is excess demand ? Illustrate with the help of a diagram.

T faf g 3 qoTe @ STl b SATeT ity 4

Explain the merits of flexible exchange rate system.

[ ¥ ITUHF U7 |
[ Long Answer Type Questions ]

A @ e w/ s 7 ae frew a arg e ® 7

3611/(Set : D) P.T.O.



(12) 3611/(Set : D)

2+4=6
What is law of demand ? Why does this law operates ?
Jgqr
OR
AR P BT A R FEG © ¢ 9 T BT A el & ol @l e

2+4=6
What is price elasticity of demand ? Explain any four factors affecting
it.
18. T SiAfT @1 & ? g0 oA # ofcesh d ®H & dged @ Qe Ry s
A B 2+4=6

What is perfect competition ? Discuss the short-run equilibrium of the

firm in perfect competition by way of marginal approach.
YT
OR

it | T AR B ? 3@ AT F al el @ e Sl
2+4=6

What is Supply ? Explain factors affecting it.

19. THIAHR SR & J&d fAQwdel & aoF & 6
Discuss important characteristics of monopoly market.
YT
OR
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TR i &Y & g faQeanet & avie &

Discuss important characteristics of monopolistic competition market.
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